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r=zi+yj+zkO (7.1)
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r=x1€1+ITres+ T3e€;3 (72)
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goooog

o o0 o0 0
000000%,4,2,20000000006,,0,,0,,0. 10000000000

Oo0o0O000000000D 2,2, 2 0000000000000gd,ds,ds O

8{E1 ? 8:62 ) 61’3



56

070 0000

OO000OOo0oOooooooooooo vo

0 0 0
:'_ 1 '4
v zax+38y+k—az, (7.4)

=i, 450, +ko., (7.5)
26161+€282+6383

goo.

7.2 00000 summation rules, Einstein’s notation
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7.3 Kronecker O O OO

20000000000000000000000 KroneckerDOOODOOO:

R o
Kronecker 000 O0O0D0OO0ODOO
ei-ej =0;j (7.11)
goo.oogod
% = 0jx; = 0;;. (7.12)
OO0 00000 KroneckerOOOOOOO0OO0OO V- AOODODOODOOOOO
V-A=(e ) (4;e;)
=e;-e; 0;A;
=05 0;A;
= 0;A;. (7.13)
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7.4 EddingtonO0OQOQOO0O

3000000000000 0DO00D00O000 EddingtonDOO0O0OO0OOOODO:

1, (i,5,k) =(1,2,3), (2,3,1), (3,1,2)000.
Eijk = _17 (i7j7 k) (3727 1); (2a 173)7 (17372) goo. (714)
0, goooooo.

Eijk = —Eikj- (715)

eyk=1000000 (i,5,k)=(1,2,3) 0000, e =—1 000000 (4,45,k) =
(1,2,3) 0000000.
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ggo.oooboobooodon
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